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Number Series Questions for SBI Clerk Pre, IBPS Clerk Pre, LIC 
Assistant and IBPS RRB Exams. 
 
No Series Quiz 65 
 

Directions : Directions : What will come in place of question mark (?) in the following series? 
 

1. 35     210     1050      4200       ?       25200   

A. 12600  B. 12340  C. 12580  D. 12200  E. None of these 

 
2. 25     32     37      47       58       ? 

A. 66   B. 71   C. 79   D. 84   E. None of these 

 

3. 240     122     64      36       23       ? 

A. 11   B. 19.5   C. 17.5   D. 8   E. None of these 

 

4. 45     49     40      56       ?       67 

A. 49   B. 43   C. 38   D. 31   E. None of these 

 
5.  256     374     504      646       800       ? 

A. 966   B. 848   C. 902   D. 874   E. None of these 
 

6.  6     6     12      36      ?       720 

A. 124   B. 142   C. 181   D. 98   E. None of these 
 

7.  108     120     138      162      192       ? 

A. 196   B. 228   C. 206   D. 219   E. None of these 
 

8.  2     3     30      155      ?       1227 

A. 446   B. 464   C. 498   D. 484   E. None of these 
 

9.  2     8     18      32      50       ? 

A. 55   B. 59   C. 68   D. 72   E. None of these 
 

10.  10     22     46      94      ?       382 

A. 112   B. 128   C. 149   D. 167   E. None of these 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

A B C D A A B C D E 
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Explanations: 
 
1.    

Series Pattern  Given Series   
35 35   

35 × 6 = 210 210   
210 × 5 = 1050 1050   

1050 × 4 = 4200 4200   

4200 × 3 = 12600 12600 ✓ 
12600 × 2 = 25200 25200   

 
Hence, option (A) is correct. 

 
 

2.  
Series Pattern  Given Series   

25 25   
25 + (2 + 5) = 32 32   
32 + (3 + 2) = 37 37   
37 + (3 + 7) = 47 47   

47 + (4 + 7) = 58 58   

58 + (5 + 8) = 71 71 ✓ 

 
Here, digits of a number are being added to give us the next term in the series. 
 
Hence, option (B) is correct. 

 

 

3.  

Series Pattern  Given Series   
240 240   

240 ÷ 2 + 2 = 122 122   
122 ÷ 2 + 3 = 64 64   
64 ÷ 2 + 4 = 36 36   

36 ÷ 2 + 5 = 23 23   

23 ÷ 2 + 6 = 17.5 17.5 ✓ 

 

Hence, option (C) is correct. 
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4.    
Series Pattern  Given Series   

45 45   
45 + 22 = 49 49   
49 – 32 = 40 40   
40 + 42 = 56 56   

56 – 52 = 31 31 ✓ 
31 + 62 = 67 67   

 
Hence, option (D) is correct. 

 
 

5.  
Series Pattern  Given Series   

256 256   
256 + 118 = 374 374   
374 + 130 = 504 504   
504 + 142 = 646 646   

646 + 154 = 800 800   

800 + 166 = 966 966 ✓ 

 
Hence, option (A) is correct. 

 
 

6.  

Series Pattern  Given Series   
6 6   

6 × 1 = 6 6   
6 × 2 = 12 12   

12 × 3 = 36 36   

36 × 4 = 144 144 ✓ 
144 × 5 = 720 720   

 
Hence, option (C) is correct. 
 
 
 
 
 
 

 

 
Join us  

www.smartkeeda.com   | https://testzone.smartkeeda.com/# 

SBI | RBI | IBPS |RRB | SSC | NIACL | EPFO | UGC NET |LIC | Railways | CLAT | RJS 

https://t.me/smartkeedaofficial
https://t.me/smartkeedaofficial
http://www.smartkeeda.com/
https://testzone.smartkeeda.com/


 

 

7.  
Series Pattern  Given Series   

108 108   
108 + 12 = 120 120   
120 + 18 = 138 138   
138 + 24 = 162 162   

162 + 30 = 192 192   

192 + 36 = 228 228 ✓ 

 
Hence, option (A) is correct. 
 
 

8.  
Series Pattern  Given Series   

2 2   
2 + 13 = 3 3   

3 + 33 = 30 30   
30 + 53 = 155 155   

155 + 73 = 498 498 ✓ 
498 + 93 = 1227 1227   

 
Hence, option (D) is correct. 

 
 

9.  

Series Pattern  Given Series   
12 × 2 = 2 2   
22 × 2 = 8 8   

32 × 2 = 18 18   
42 × 2 = 32 32   

52 × 2 = 50 50   

62 × 2 = 72 72 ✓ 

 
Hence, option (C) is correct. 
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10.  

Series Pattern  Given Series   
4 × 2 + 2 = 10 10   

10 × 2 + 2 = 22 22   
22 × 2 + 2 = 46 46   
46 × 2 + 2 = 94 94   

94 × 2 + 2 = 190 190 ✓ 
190 × 2 + 2 = 382 382   

 

Hence, option (B) is correct. 
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